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Section Id : 233667390
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 21
Number of Questions to be attempted : 21

Section Marks : 25
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 233667468
Question Shuffling Allowed : No

Question Id : 23366711779 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question
Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

Read the passage and answer questions based on the passage:
Moral education centres upon this conception of the school as a mode
of social life, that the best and the deepest moral training 1s precisely
that which one gets through having to enter into proper relations with
others 1n a unity of work and thought. The present educational
systems, so far as they destroy or neglect this unity, render 1t difficult
or impossible to get any genuine, regular moral training.

Sub questions

Question Number : 1 Question Id : 23366711780 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

According to the writer, the school 1s a form of
Options :

.« iIndividual existence
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, « religious life
. » spiritual life

. » social life

Question Number : 2 Question Id : 23366711781 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Moral training, according to the passage, effects
Options :
. »a unity of work and thought

, « entering into proper relations with oneself
, « the skills of work

, « the skills of thought

Question Number : 3 Question Id : 23366711782 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The writer’s attitude to the present education system can be described as
Options :

. v Critical

, » adulatory

, « defensive
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, » indifferent

Question Number : 4 Question Id : 23366711783 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The central concern of the passage is
Options :

.. spiritual education / spiritual training

, « work education / work traimning
. » moral education / moral training

, « thought education / thought tramning

Question Number : 5 Question Id : 23366711784 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Find the word from the passage that 1s a synonym of accurate
Options :

.« Conception
, » Neglect

. ¢ Precise

. » Genuine

Sub-Section Number : 2
Sub-Section Id : 233667469
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Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 23366711785 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Correct the underline word in the sentence below. by substituting with the correct word

I pray for god to give me strength
Options :

., Tegarding
» v 10
3 % 'Of

. « with

Question Number : 7 Question Id : 23366711786 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

I think he 1s honest man
Options :

). dll

3.333

, « no article

Question Number : 8 Question Id : 23366711787 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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This 1s car my friend bought last week
Options :

1. ¢ the

2&3&11

3.2 d

, =10 article

Question Number : 9 Question Id : 23366711788 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Indeed, I am not sure his success
Options :

1. ¢ Of

, «regarding

;. » about
4, % Off

Question Number : 10 Question Id : 23366711789 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

They saw him fell his horse
Options :
| = after
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2. % ag&iﬂs‘[
3, % Of

4. JOff

Question Number : 11 Question Id : 23366711790 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The will meet again, to discuss the matter
Options :

= Comittee

» # Commitee
; v Committee

4. # Comitee

Question Number : 12 Question Id : 23366711791 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Cricket team are 1n a mood
Options :

.~ buoyant

, « buoyent

. » boyant
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4, ® bllyal’lt

Question Number : 13 Question Id : 23366711792 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Had he studied hard, he passed

Options :
.« has

, » had been
; »would have

, « have been

Question Number : 14 Question Id : 23366711793 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

[ wish | her address

Options :

.« know

, » have known

, » may know

. v knew

Question Number : 15 Question Id : 23366711794 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Incredulous means
Options :
. « obliterate

, »~ skeptical

. . practical

, « INsane

Question Number : 16 Question Id : 23366711795 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Precipitous means

Options :

., Very steep

, . very deep
. « presumption

, » hascent

Question Number : 17 Question Id : 23366711796 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

1s a synonym for ingenuous

Options :
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.« Clever
, » Ingenious
, v honest

.« Indecent

Question Number : 18 Question Id : 23366711797 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Keenness is a synonym for
Options :
.« abjure

, » €nigma
. skip

4. v dCUITICT]

Question Number : 19 Question Id : 23366711798 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

[nvincible 1s an antonym for
Options :
. ,conquerable

, » transparent
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, « f1asco

Question Number : 20 Question Id : 23366711799 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Change the following into a simple sentence
He wanted to play with his friends and so he finished his home work quickly

Options :

.« As he wanted to play with his friends, he finished his homework quickly

, « S0 as to play with his friends, he finished his home work quickly

. » He wants to play with his friends and they he finished his home work quickly

, »In order to play with his friends, he finished his home work quickly

Question Number : 21 Question Id : 23366711800 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Change the following sentence into a complex sentence

“Despite several obstacles, she succeeded finally™
Options :
.« In spite of several obstacles, she succeeded finally

, « Not withstanding several obstacles, she succeeded finally
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. » Though there were several obstacles, she succeeded finally

, « There were several obstacles and still she succeeded finally

Question Number : 22 Question Id : 23366711801 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Change the following sentence into passive voice

“I saw him opening the door™
Options :

., I saw the door and he was opening it
, » Opening the door, he was seen by me
., I saw the door being opened by him

, » He was seen by me while opening the door

Question Number : 23 Question Id : 23366711802 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Change the following into active voice

“I was kept waiting for two hours by him”
Options :
.« I waited for two hours because of him

_ He kept me waiting for two hours
2.¢
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. « He 1s waiting for me for two hours

, « | was waiting for two hours for him

Question Number : 24 Question Id : 23366711803 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Change the following into indirect speech

“I will bring my laptop tomorrow”, she said
Options :

. She said she would bring my laptop the next day
, . She said that she would bring her laptop the next day
. « She said she will bring her laptop the next day

, « She said she would bring her laptop tomorrow

Question Number : 25 Question Id : 23366711804 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Change the following into direct speech:
“She said that she loved pizza so much”

Options :

. »She said, “I love pizza so much”
. She says, “I love pizza so much”

2.
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. « She said, “I loved p1zza so much”

, « She says, “I loved pizza so much”

General Knowledge

Section Id : 233667391
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 15
Number of Questions to be attempted : 15

Section Marks : 15
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 233667470
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 23366711805 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The primary function of the Election Commission of India 1s to:
26 D) $0 Dogo MY FAE D&:
Options :
Formation of laws
, SO0 drdodoto

L.

Conducting elections
D) S0 DB aToLdcio
2.9
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Pass budgets
. mge’iam 23 AotdE 0
Managing Parliament sessions
. F B0 DATDF VD DEToLdcto

Question Number : 27 Question Id : 23366711806 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The largest freshwater lake 1n India 1s:
B335 DY DDA DERY;

Options :

Vembanad Lake

DoLyTFE ;’bd:bob
1. %

Dal Lake
oee5 R)CSE’QJQ

2. %

Wular Lake
. Syred SISV

Chilika Lake
. wose 'E;)CSK)JD

4.

Question Number : 28 Question Id : 23366711807 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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The term "carbon footprint" refers to:
'SP FBONG" @D Do IO AT
Options :
Growth of forests
| x 98 DAAG

Water pollution levels
D SPRDDY JPaew
2. % @
Total greenhouse gas emissions
_ 20go AOTFD Jroin &TFTReD
Fuel etficiency of vehicles

T T QoD S0
4 % =)

Question Number : 29 Question Id : 23366711808 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

India’s first mission to study the Sun 1s:
‘&1?(135&.3) &‘)G'J?Sai)éo DADERIS PGB B0 cﬁDSEJ DA & (o:
Options :
Aditya-L1
. 93&@35 -L1

1. ¥

Chandrayaan
, % B0GaIrd

https://g01.digialm.com/CAE/viewHtmIPDFAction.action 16/91



6/7/25, 12:22 PM g01.digialm.com/CAE/viewHtmIPDFAction.action
Surya-N1
mqs -N1
3. %

Vikram Lander
) DE0 E’_P?SDCQS

4,

Question Number : 30 Question Id : 23366711809 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The 'Green Revolution' in India was mainly associated with:
ePB5E%0eS” 'TPBS DDH0' PEEHT BIE HVEDE Eod:
Options :
Irrigation reforms
DOV Doy Sreen
Industrial development
i FOFTE STATNA

2.

Agricultural productivity
|, DROTAD GBS

Environmental protection

?boﬁéaﬁéea 083&
4. %

Question Number : 31 Question Id : 23366711810 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Which of the following 1s not a fundamental right in the Indian Constitution?
308 TOS” e Trarjoiod FEE TPL) G AB?
Options :
Right to Equality
- VAFPRSC T°S),
Right to Property
8 P8
2V

Right to Education
DT 2TP8);
3. ®

Right to Freedom
5 o
L SN2 J"SJEJ

Question Number : 32 Question Id : 23366711811 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

UNESCO stands for:
QS0 0eS:
Options :
United Nations Educational, Scientific and Cultural Organization
DSOS Dang, FTYAD SO0 F0R)y38 Vo
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Universal Science and Culture Organization
L OGNS POy Wolkh SNG BSEIBA
United Nations Environmental. Scientific and Cultural Organization
DE[TBLOS DT[HGE, TR0 BAHL FoR) 3L Do
3.8 = Q

Union of National Education. Science and Culture Organisation
| A0 DAY, Dazd0 SBOKN DR HB VoL WOLVo

4.

Question Number : 33 Question Id : 23366711812 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Indian Parliament consists of:
2PEeh PGS QD EotIrow:

Options :

Lok Sabha and President
-, 65608 doBaty e
Lok Sabha and Rajya Sabha
. 578028 SO0 TR
Lok Sabha. Rajya Sabha and President
| &80, Trages oBon ek £

3.
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Rajya Sabha and Supreme Court
| TP B X0208'E
4,

Question Number : 34 Question Id : 23366711813 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The capital of Uttarakhand 1s:
& DG TRIN:
Options :
Mussoorie
- mﬁﬁgé
Nainital
) % S

Dehradun
,  EFErD

Haridwar
?.’3“6.:?55
4, %

Question Number : 35 Question Id : 23366711814 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which Indian River 1s known as ‘Dakshina Ganga’?
'6&63 thorf €92 DRVDLIE 2TEB0% IO DA??

Options :
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Krishna
| % SR

Godavari
2. FIG b

Kavern
3. % S0

Mahanadi
4. % PO

Question Number : 36 Question Id : 23366711815 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

'One Earth. One Family, One Future' was the theme of which recent international summit held 1n
India?
2,8 P, 208 L0080, 2.8 BV G VIR EBBF0S” 280D J WoSTAAD DT

DAFDE0 FADyB0?
Options :

G7 Summit
|« G7 3T°F DATDBO

SCO Summit
) % SCO %3301’6 DA B0

G20 Summit
s » G20 30 DATDFO
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BRICS Summut
, » BRICS 3073 DATDFO

Question Number : 37 Question Id : 23366711816 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The primary role of NITI Aayog is to:
DS e3ArH @Y, PO FG:
Options :
Conduct elections
e D) Sew ri’)dsijﬁor:ﬁc‘,o

Formulation of policies and strategies
, erTren ddon rjatosd ErDodotdcio

2.
Collecting taxes
| DAY Q0 DTN Babo

Enforcement of laws
| DO e95500) oo

4.

Question Number : 38 Question Id : 23366711817 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The first Indian woman to go nto space was:
903850e5°8 DV DA eEBaD LIT:

Options :
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Sunita Williams
. ﬁ)b@“ SE}O'.'D‘SJD
Kalpana Chawla
, SO e

Ritu Karidhal

Tessy Thomas
63333 0
4. %

Question Number : 39 Question Id : 23366711818 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which country recently exited the European Union (Brexit)?
OOV AHFEDONS AHTIODS (G3185) ol Vi,aedd B30 B?

Options :
Germany

- ea:tiéf{)

France

35

2, M 5

Italy
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United Kingdom
4 »OOJBE Sohcian

Question Number : 40 Question Id : 23366711819 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

‘Mission Shakti” was related to:
AR B A2 H0L20O0DIA:
Options :

Women's empowerment
| % QO ASCES

Anti-satellite missile test
) v E0E5 DT EE 8063 0OE

Cybersecurity program
. b BET° stE[Ev0
Skill development for youth
, CI0DBLH JYETFD0)E

4.

Teaching Aptitude
Section Id : 233667392
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10
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Section Marks : 10
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 233667471
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 23366711820 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The purpose of formative assessment 1s:
QT°) £3°e3) S 05T A0, e&:‘sé?go:
@
Options :
To assign final grades
BB oo é@bcéocﬁaﬁb

To evaluate teaching staff
- 5 B3T 2308 &0 BabEedS

To improve learning while 1t 1s happening
» 2923°(0 &AWV T Iobleblabrtloinlaedls

To promote students
. DTGV T30S

Question Number : 42 Question Id : 23366711821 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which learning theory 1s associated with operant conditioning?
D €92 Dgroeho e508B0H SodnIoAS BNEDE €od?

Options :

https://g01.digialm.com/CAE/viewHtmIPDFAction.action 25/91



6/7/25, 12:22 PM g01.digialm.com/CAE/viewHtmIPDFAction.action

Piaget’s theory
DAIrE Hgrotho
1. ® @
Skinner’s theory
) 2
. n:rb::nié nagoejo

Maslow’s theory
AR DEPotho
3.8 « @
Gardner’s theory

686 Heodho
L% G )

Question Number : 43 Question Id : 23366711822 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A democratic classroom environment encourages:
DEPI(D0] AGAS (1O TPErOGE0 IO T'BTR0b:
Options :

Authoritarian discipline
| » 653 SH0IE6

Passive learners
b )
- mﬁmaés @egﬂ?goae‘ow
Student participation and dialogue
. 23@5ng aaﬂﬁbsaﬁ)zso 00010 DoeFes
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Teacher-centred teaching
, BT oD-SofE 56D

4,

Question Number : 44 Question Id : 23366711823 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which one 1s an example of intrinsic motivation?
290BG% PO ETFTPEE O
Options :
Prize for winning
|« BODD0RIL TV

Fear of punishment
2. ® ‘9..%. EjCl‘.'lJO

Desire to learn

| ISciJagﬁme_)Ifb 8¢
3.9

Parental pressure
4 » B0B00 2BE

Question Number : 45 Question Id : 23366711824 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A teacher using Bloom’s Taxonomy should aim at which higher-order skill?
Qe HPECR TP GDOIPAHD EFETHOINED D &) & Frow JVEPFI) vEFor SETD?

Options :
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Remembering facts
|y TPRTO dooE dco

Applying definitions
| VGO HYoDdBADE0

Creating new knowledge
8 2red) {yowcio
v - % €

3.7

Understanding rules
, Do edo S oo

4.

Question Number : 46 Question Id : 23366711825 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In pedagogy. ‘feedback’ helps:
&5 TR0, ‘DI’ BIS GDATHDEIBE:
Options :
Punish students
| VTR0 50030400

Modify teaching strategies
- e300 QYEIPORD 5760t

Give homework

s o Fodb) RDT=DS
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Mark attendance
4w PRAD (Dot

Question Number : 47 Question Id : 23366711826 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which among these promotes inclusive education?
DS DB DY VS DGR T P08?
Options :
Segregated classrooms
| % 0 DADAED BHEREN (e

Fixed curriculum
3 .5"0"50%’“?.1}
2.8 @
Adaptive teaching methods
9080 57T DS

3.¢ @

Competitive grouping
. OS] DI0PETD

4.

Question Number : 48 Question Id : 23366711827 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which 1s a barrier to effective classroom communication?
33D 356¢5° “nao‘:ljg&’}oe‘_‘ééjf{} Sm?sb§§15éj eﬁ%oéﬂ" &&’}J& M 7

Options :
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Use of visual aids
. O3 PDotaire ordsSo

Clear articulation
L )RR EENOE

Language mismatch
s o 2PN DOV WED Do

Active listening
. tﬁ)d:}g" Do

4.

Question Number : 49 Question Id : 23366711828 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A good teacher evaluates students by:
2,8 00L) EITTIAICED DEFEOVR & $08 DO VOT® DY
Options : -
Comparing them with others
T8 RV Tyt T Y
1. #
Judging their behaviour
o 70 DOEI o Dablo & S
Identifying strengths and weaknesses
20 BAEN LRPHBOM HobEo TS

3. ¢
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Ignoring slow learners
| QDO RENDOITOD Dy Boedcto o3

Question Number : 50 Question Id : 23366711829 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Effective teaching 1s primarily about:
DEPHO0BD 5G5S, DEedorT DB HOD:
Options :

Completing the syllabus
| PV P8 Voo

Giving maximum homework
N ﬁ@gow ﬁo&ﬁE& Q0

Enhancing understanding and engagement
, TR 0800 DINTTD) DoTobotscio

3.7

Following textbooks strictly
.« FTEEIRT O o™ Focdcio

Physics
Section Id : 233667393
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
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Number of Questions to be attempted : 50
Section Marks : 50
Maximum Instruction Time : 0

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

1
233667472
Yes

Question Number : 51 Question Id : 23366711830 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Rutherford’s scattering formula is applicable for
Er@6E DY Argo & Sod TBS” BIS HYWB ?

Options :
Strong nuclear interactions
| 0RR So@s BEjOLS”

1.

Low energy gamma rays
|, B BS (0 TP SOEFPeD

Elastic collisions between neutrons
| AP0 OGS 01 9D

Scattering of alpha particles by heavy nuclei
.28 Bogsrw TP(TP esery SEPoRd DOEDD0 oo

4.

Question Number : 52 Question Id : 23366711831 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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A gyroscope resists changes in orientation due to
08T, B 5e6E0T GA(TR5R0S” ArEx© DT HRE
Options :
Linear acceleration
~, B B¢Sea0

Conservation of angular momentum
Ee3ahy @D desgesqo
2. ¢
High angular acceleration
- 008 Egab agdeo
Friction
a0
ol

4. %

Question Number : 53 Question Id : 23366711832 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Euler’s equations describe the rotation of a rigid body about
QPO DaDEGETLD GyGEaDD D) ABog), DO B0ETEDY DddFrow ?
Options :
Principal axes of the body
_, P AINE). DTN D

1.
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Axes fixed 1n space
| 038508 DEDED ez0eD

Arbitrary axes
e OjJ"Cjaar)g ROZPRD
Axes passing through the center of mass
BOJ0°3 Sogdo (Lot DT,y wEreD
4, ®

Question Number : 54 Question Id : 23366711833 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The orbit of a planet under a central force is generally
SoQ0D LI00 SCEEOTP (§:3°0 BVE). SE( FPTPGEIOT JeT° 0008 ?

Options :
Circular only
L TS’ Ardan

Parabolic

) ® b"U"ESo@g

Elliptical
JQ@%S@

3.
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Spiral

=

2N 3ed

Question Number : 55 Question Id : 23366711834 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The sensation of weightlessness occurs in a satellite because
E0FT0eS° LIANTD 9BTA D0 DotE0Es

Options :
There 1s no gravity in space
, 088508 (DTG G0

Gravity 1s balanced by centrifugal force
L (LTSGR DT 100 TPITP DB B0E

The satellite and the object mnside are i free fall
| &D(IEro dakn o 57 He) €9) DR V(Y 0695065 ot
3o ;
The satellite moves with the speed of light
L GO0 0N DToS LGB0

Question Number : 56 Question Id : 23366711835 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The tframe of reference that is considered valid in both Galilean and Einstein’s theories 1s
A9 HS 208w 335%?5 fagno@ﬂuefiﬁ Seoerew eDHIAM DOrEIoDE P D GDBOY A&?

Options :
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Accelerated frame
e oiyébe_)ééjci o)

Inertial frame
, mgmﬁ Folob

2.

Rotating frame

L B5806 H

Non-inertial frame
L w @5-@&’)90.‘136 Qo

Question Number : 57 Question Id : 23366711836 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The condition for maximum power transfer in a forced oscillator is when

ijﬁég 5,5656)665° (563 ,&omgéo A0S 1B Dot ?

Options :
Damping 18 zero
ooh "r(DRJ”‘l
1. %
Driving frequency equals natural frequency
2ok 5‘9355,3 DI, f.g@sb:)é BP0 DI
v =

2.
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Driving force is constant
, S8 3§ VBT €s0e008

3.

System 1s underdamped
ﬁ:}‘rgi) 2906 Godoh Baerdod

4. %

Question Number : 58 Question Id : 23366711837 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The sharpness of resonance 1s described by
TS0 A3V, DA YU DOJoILICod

Options :
Time period
L, o :J?Sa&

Relaxation time
. Se.wéboq‘% S0

Quality factor
;v (D8 2280

Damping coefficient
.« Goaoh ko

Question Number : 59 Question Id : 23366711838 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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The coupling in oscillators mtroduce
TGS’ EHoh TP(T° Jo DGR ?
Options :
No change in motion
, S008eS” Ay T

L.

Damping
) % oo

Additional restoring forces
| OB 2DRFDE e
3. :
Inertia
. BGEB0

4.

Question Number : 60 Question Id : 23366711839 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following devices i1s commonly used to produce ultrasonic waves?

e9eP’DE BOoMPORD EBYQ BADLEPIS JTrGLom &DAPN0D DOEG0 JE?
Diode

Lx A&
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Piezoelectric crystal
DS DTSE 65
2. 2 9
Thermocouple
- ate] LSS
LED

Question Number : 61 Question Id : 23366711840 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In a Michelson Interferometer, a change in the optical path length of one arm by /2
(where A 1s the wavelength of light used) results in
BNV 0B\ TOES’, 2,8 Bow e, BDES S FED 12 To° A6 o

(@8), & J0 &DATAD SPod édoﬁnﬁ_g}go) Do I €D ?

Options :
No change in the interference pattern
, BE0m AT Dy G

A shift of one fringe 1n the interference pattern
|, D5DE0m d20reS” 28 DY A0E) APy

https://g01.digialm.com/CAE/viewHtmIPDFAction.action 39/91



6/7/25, 12:22 PM g01.digialm.com/CAE/viewHtmIPDFAction.action

A shift of half a fringe in the interference pattern
_, D5AE0m DT Do D o), AN

The disappearance of all fringes
9) HEe) €9C3)3§0
4, % e

Question Number : 62 Question Id : 23366711841 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Newton’s rings are circular in shape because
& Sod TS APHIN HVAITL TS G0 GoGERIS T°6E0 DE?
Options :
The lens used 1s convex
-, BDHOIPAOD Gy L208TS EoTP &:08000

Light source is circular
, % 5P08 QP00 OHTFS GOl €000

The shape of air film 1s symmetrical about the point of contact
- TPa3D DG esseGo RNGy DoY) DB f}"?gaﬁon'“ 650008
The wavelength of light is constant

3
" Seoed ééoﬁq@géo gdorﬁ &0t0odd

Question Number : 63 Question Id : 23366711842 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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When white light 1s incident on a diffraction grating, the light that will be deviated
more from central image will be
DDGD 30N BYD 5708 DEIYDND, S0 Do odh LT JSwdo Bod SPod

D BoreS® &otnod ?

Options :
|« Yellow - D202)

,. = Violet - & SotD
. « Indigo - SR DO Sord

4. Red - o)dj@

Question Number : 64 Question Id : 23366711843 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Resolving power of a grating is
3806 ) D@6 avmggo & 808 T783¢5° BAE Dowodo EOA Gotwod ?
Options :
Directly proportional to N
Lv N & 0008 ar0are0e5” &0t00d

Inversely proportional to N
, « N & DS°ar0araosS” &otnod
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Independent of N
, N Qooc D Bogor &otnod

3.

Directly proportional to N’
4 x N? & 09:065° de0are905° &6

Question Number : 65 Question Id : 23366711844 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Brewster's law 1n terms of refractive index can be expressed as
DHSBHD DE%0 BTGOM LR DAHOVAVR I HIFEBOSIIN?

Options :
. n=sin(ip)

, » U=tan(ip)

. « =cot(ip)

Question Number : 66 Question Id : 23366711845 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The geometric shape of the wavefront that originates when a plane wave
passes through a convex lens i1s

28 Vs dGoio S1023°5°3 SeSo (oG b@aé?’@ba) t%dag)off) 800 i20D0 O?il)égj
O°riedeh e95°Co  DeTe &otod ?
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Options :

converging spherical
L v D6 Fwesedo

diverging spherical
L %, A0S BFweseEo

plane
3 % . ‘rbh)?ji?)o

elliptical
. BDTse G0

4.

Question Number : 67 Question Id : 23366711846 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Spherical aberration occurs because
H9rse0 DOBD0 oL BEXDAE ?

Options :
Different colors of light focus at different points
-, DB Pa0l) DG SPod GRS, DG Gorben SoQEBoietisron

The lens surface 1s not spherical
., Oy &DBBvO Hseorr oty
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Marginal and paraxial rays focus at different points
, 7806 0803w PTrSyaeS SGEren DB(W arawol) H& SoSdotsercEEra

3.

Light 1s reflected instead of refracted
.« 508 DHEBITPIE IRV DTG0 BocSBI0E

Question Number : 68 Question Id : 23366711847 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The basic principle behind optical fiber operation is
2595 Db NPT DAWE &) FBE Argo I ?
Options :

Refraction
. D3BHS0

Total internal reflection
v nao?bfg 29090 DT°DF0
Diffraction
s x G0

Dispersion
4. ® 3553980

Question Number : 69 Question Id : 23366711848 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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A laser beam is highly coherent because
Jab Qodo e VoRIWOTP 0TS TG0 Ded ?

Options :
All photons travel at the same speed
|, 0y Tere 08 Do Hatredown

All photons have random phases
|, 00 Tergd afrddyg 30y SBH eotrow

The beam spreads out in all directions
_, 2Dozo @) BFVS” TR0

The emitted photons are in phase
, Decsualy Tergd w8 ¢3S eotrow

4.

Question Number : 70 Question Id : 23366711849 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The device used to produce a hologram is:
& $08 oS FS TP GING BoLEIS &DArACD DOSCo A& ?

Options :

Spectrometer - bhg FORTAYS
1. ® =
, » Camera - S00°
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, v Laser - 26

E

. Microscope - ET) D

Question Number : 71 Question Id : 23366711850 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The root mean square speed of molecules of 1deal gases at the same temperature are
2,8 egg@ DG e8CIGy TPAVDY WEDNHL PR DI DY Defo o 0808 ?
Options :

The same
w280 &0t

Inversely proportional to the square root of the molecular weight
|, DOATED ) WY, HFLPEPIS D AT B0 &ot10d

2. ¥

Directly proportional to the molecular weight
DOJTED DL DS S HrFB0eS” &otnod

3. #

Inversely proportional to the molecular weight
4w DORATPED LA DS AT 05" €0e000

Question Number : 72 Question Id : 23366711851 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The correct relation between the degrees of freedom ‘t” and the ratio of specific heat * 7’ 1s?
Ry Glen f 208080 DB &N D 17 Q] DT Doeocio AE?
Options :
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2
f= —
1. ¢ Y—'l
2
f= —
2. & Y+1
Y+1
f: o
3 % 2
1
4. ® Y+1

Question Number : 73 Question Id : 23366711852 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The internal energy of a gas will increase when it
J°030a) mgb E_*}oe“_’ége‘_‘é é§ = ‘E’ooc;ﬁdaoefiﬁ Feleblablx blolATNY

Options :
Expands adiabatically
L) o
- gﬁsogﬁom (&0
Expands isothermally
. P eI argEo

Is compressed 1sothermally
. P &ge Do€'o
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Is compressed adiabatically
HTAL D0

v @ €3

4. %

Question Number : 74 Question Id : 23366711853 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A heat engine works between a source and a sink maintained at constant temperatures
T1and Ts. For the efficiency to be greatest
28 &Keé} albogdo ?{gd@)&‘) &ggeﬁﬁn T1 0003w T; &‘_th bdsij"oﬂ’)&}é 28 &Qﬁéofuo Peblolonth!

208 20655 DB, FG 0 L ST Ez0trw08 & S0l o0 der &otd)?

Options :

T1 and T: should high
o T 0badn T, e o &ord

T and T> should be low
, Ti obasn T, &) O &ord

2.

T1 should be high and T2 should be low
LT 280 S Gozed dadn T, B S &ored

3.

T, should be low and T should be high
L Ly B8 O &od B T, JO) O™ &otd

Question Number : 75 Question Id : 23366711854 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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The Clausius-Clapeyron equation relates the change in
SPRADR-TPRTPR DAECEI0 & $08 TPBS” D AN DHOV0E ?

Options :
Temperature with volume
, 03DBATEE T (3

Pressure with temperature during phase transition
3% HBDGN DA T PSS o

2.

Energy with entropy
e Do’ DT 38

Free energy with pressure
| DGH08 Dy 3

4.

Question Number : 76 Question Id : 23366711855 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If H is the enthalpy, T is the temperature and S is the entropy, then Gibbs free energy is
defined as

H 00380 Joedy, T 956 eges 200050 S 030 Jotf'a and, Ay 8D Jer

ijdsﬁ)oéém‘b‘?
Options :
LeH-=TS
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s U+ PV
8 U—-TS
. %A+ PN

Question Number : 77 Question Id : 23366711856 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following gases shows heating mstead of cooling during Joule-Thomson

expansion at room temperature?
(16 &S G FS-mri0ND T5E50eS” 808 TONPHVS” DB BYLSBTEIS LT DELY H0b?
Options :
Oxygen
§ e_eébe::,f)
1.

Nitrogen

Hydrogen
3. ¢ Ega"%

Carbon dioxide

L S0S cairsy&

Question Number : 78 Question Id : 23366711857 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Adiabatic demagnetization works on the principle of
cairers Gart) 8800 & $08 D Wrgop DITWR ?
Options :

Joule heating
L% & QS_ ZEPO PN

Magnetic hysteresis
IADI?) 0 YOV

2. % &

Entropy change during magnetization

, 0 0DE0Es DAAHS” Jog'Dd AFdY

3. ¥

Optical cooling
322565 BT

4. %

Question Number : 79 Question Id : 23366711858 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Planck's law 1s valid for
°08 Do MDD Beeren esHBd ?
Options :
Low temperature only
-, B D &S argdo
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High frequency only
A 5‘3;@&‘350 QG
All temperatures and frequencies
D) &TEoen B0 ORI

Only visible light
L w O3 P08 ARG

Question Number : 80 Question Id : 23366711859 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Wien’s displacement law gives the relationship between
DD FIP0? Aaho DB D] Doeorrd) BOADLBWE ?
Options :
Temperature and total energy radiated
L, &S 0800 Ango 3§ DS6eao

Wavelength of peak emission and temperature
(507) &TPG0 BGoGBG.0 DOALL & He
v & 0 = £~
Emissivity and absorptivity
, ETP0S 2Batn T

2.

3.

https://g01.digialm.com/CAE/viewHtmIPDFAction.action 52/91



6/7/25, 12:22 PM g01.digialm.com/CAE/viewHtmIPDFAction.action
Frequency and temperature
23D Qodaty &

Question Number : 81 Question Id : 23366711860 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A thm spherical shell of metal has a radius of 0.25 metre and carries a charge of 0.2
micro-coulomb. The electric mtensity at a point lying at 3.0metre from the centre of the
shell 1s

S0 S0 BADAD VDD Fvess Sdcso 0.25 g T§go $9A Gotod

206030 0.2 E-Erecs a6k SR Gotod. Soo &5 od 3.0 xS Erdod’
€:9) Dot HG DS BHS Jod &otwod ?

Options :

L% 140N/ C
2 % 160 N/C
5 = 180 N/C

4.+ 200 N/C

Question Number : 82 Question Id : 23366711861 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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The dielectric constant of helium at 0°C and one atmospheric pressure is 1.000074. The
dipole moment induced in each helium atom when the gas is in an electric field of
intensity 8 x 10* V/m is

0°C 00030 wE TP Do O rdato g DEFTETE Joroso 1,000074.

TS0 8 X 104 V/m S8 $900 Dogd EGosS” 60 D 08 ko et
DO0ORICLD EXEPD LEIED............

Options :
 #52C-m

> % 0.52 C-m
3 ¢523x10° C-m

4 %523x10”C-m

Question Number : 83 Question Id : 23366711862 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The divergence of the magnetic field is zero because
90DI7) 08 EGo ARG, WOVGEHAN KWT?) JoSE.....
Options :

Magnetic field lines begin and end on charges
- ADI?) 08 £ Ten DETPDTVP  FPEoBDTPAD HOJATL HALIPOW
Magnetic field lines form closed loops
- 00D 00 £ e §8 Lrdu) D6\EOF0N

2.9
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Magnetic field 1s conservative
_, 00308 EBo JyBCo
Magnetic monopoles exist
, 90D 08 AFPIT'Sy &otraw

Question Number : 84 Question Id : 23366711863 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The self-inductance of a coil 1s increased by
PSS AME), f’o&&‘ja—faocigf%b & Sod B (T DEAMDSD ?

Options :
Decreasing number of turns
. AN Q0 e‘_‘égoﬁao

Using a wooden core
B8, E6: edArhoco

Increasing current
3. % §8085D Dodio

Increasing number of turns and using a soft iron core
T8 R08[R0 DoBE0 ABAL ByEIPD BID FE &Aoo

4.

Question Number : 85 Question Id : 23366711864 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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A high Q-factor implies
9HE Q-5°6%0 063 D) ?

Options :
Wide resonance curve
| x OB TG DEo

Large bandwidth
D erfoldE
0 @Q =
Sharp resonance with small energy loss
SO 38 50E DEIRD TTD0

Strong damping
s« DORD G000

Question Number : 86 Question Id : 23366711865 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Maxwell's wave equations are applicable to
S ENSEECE DAEGETD & 00 TrDS” DBS HOBIPoW ?

Options :
Only conductors
| & DPAIPSRRD AP

Only insulators
, % ©ITPPTERD ATPGD
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Only static fields
ol B
.0 ETew AP0
Time-varying fields in free space

L9 208" SRRV HPEBIR) EPeD
4. ;

Question Number : 87 Question Id : 23366711866 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If p=50 and [z=5.1 mA, then Iz is
B=50 083w Ie=5.1 mA @and, Iz o &otnod?

Options :

v 0.1 mA
. # 0.05 mA
3. % 0.2 mA

4 % 0.3 mA

Question Number : 88 Question Id : 23366711867 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In a Zener regulator, if load resistance decreases, the Zener current:
8506 6{?356&)593‘55 5°E DF LS NS, &6 STotS Jer WD ?
Options :

Increases
1 % Foloba bl bleTA)
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Decreases
ExTeSlxblelA)
A

g01.digialm.com/CAE/viewHtmIPDFAction.action

2

Remains constant
DGO &otod

3.8 @

Drops to zero

. ‘&J@Qé DED B0H
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Question Number : 89 Question Id : 23366711868 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A Full Adder adds
2,8 2P0 airid & o0& e B3I BHBBR ?

Options :
1-bit binary number only
, 1-08 836 Dogdy ArGD

Two inputs only
, « 806 @03 drdan

Three binary mputs (A, B, Carry-in)
L, D B8 adpBew (A, B, 5°(6-a)

Four bits at a time
4w 2088 Trenrd Deden

Question Number : 90 Question Id : 23366711869 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Complement Law says
SP0208 e & 208 oS BID BewSod ?

Options :
L« A+A=0
oW A'E: A
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v A+A =1

.« AA=1

Question Number : 91 Question Id : 23366711870 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The selection rule for the change in the magnetic quantum number (Amy) for an electric
dipole transition 1s
DEFS BLED 0BG R0 903 08 SPLoto Wogdf (Amy) & NS Roe0BeR

Doag oo D6 ?

Options :

1w Am=0
> & Ami—=*1
5« Am=0 =1

4 & Am=2

Question Number : 92 Question Id : 23366711871 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In the Zeeman effect, the number of spectral lines observed depends on
ROPS PEPH0S, (V0D HGHL T VoIB DI BEPEOE €0t ?
Options :

The orbital angular momentum quantum number (1) of the electron

dOTD A, 54 Feaotd ARt S ko Do (1).

1. ®
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The spin quantum number (s) of the electron,
5 o
. Dog% aBog), @35 S°C0€0 N0’y (e).
The total angular momentum quantum number () of the electron
OTD @0E), Do 30D 000 s°gotdo W0y ().
The magnetic quantum number (my) of the electron
QU AL, E’f)CCi)ﬂ"boej sCotro Doy (ml).

4. v

Question Number : 93 Question Id : 23366711872 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The wavelength associated with an electron raised to 1600 V potential 1s

1600 V FEI0HSL Docsrdsd JOTRE 0oe060 &Y B60IBY0 Joes?

Options :

L «31A°
2%3.1A°
1 v0.31 A°

+%0.031 A°

Question Number : 94 Question Id : 23366711873 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Bohr’s complimentarity principle is the consequence of
&S00 &) TAS” &5°6 GINE) T0PEFBE ATFEEIS DEJOFICTP &Y O O 7
Options :
Bohr hypothesis
L, 6 DBEOND

De Broglie hypothesis
L, G &0 DO

2. %

Rutherford model
@O Hurar

3. 8

Interference
éé@sdsao
4.

Question Number : 95 Question Id : 23366711874 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Least energy of an electron moving in one dimensional potential box of width 0.05 nm 1s
0.051m Seteny o s ISWEAD T'BI0HS HBLS” SES JVF'® W), SIQ #3 Jo?

Options :

1. v 150.95eV
,. % 5.09eV
3.8 1.50eV

4. = 0.015eV
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Question Number : 96 Question Id : 23366711875 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Meson theory explains
QD dgrodo & 800 &) BID DHBRES ?

Options :
The behavior of protons and electrons
Dergd 200 JOTD VDG
1. ® Z
The force that holds the atomic nucleus together
|, D6AED So@sed) SO &0l Lerew
The forces between quarks inside protons and neutrons
L, Tergd 208030 AT €700 526 0 Q6| wered

The electromagnetic interactions between charged particles
- DEVTPDIY SE0 0] 287 DEEADLI?) 08 SE[eD

Question Number : 97 Question Id : 23366711876 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The concept of "magic numbers" in nuclear physics refers to the number of nucleons that
) &AE TR TARES  Rofen” @D PO AF(SAIrY Vo) (Hddow) GBI

AL ?
Options :
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Are more stable due to closed shells
85 25 SO0 D) & DGO €0£3°AW
LV O G @
Can exist in a free state
5 5
S E})@eSs SoGHO)

Form isotopes with the greatest energy
|, 008 338 DI DO GYEOFOW

Are unstable and radioactive
) eﬂfé‘))doﬂ"’ SOOI 6dcﬁﬁm°%gorw €083°Q)

4.

Question Number : 98 Question Id : 23366711877 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Fullerenes are also known as
DTN TS SEorr Jer deJd ?

Options :
Graphene
L s PR

Buckminster fullerenes
L8006 PO

2.
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Carbon nanotubes
. SIS RJ"SE‘.D“?SESQD

Graphite

Question Number : 99 Question Id : 23366711878 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What happens to the magnetic field inside a super conductor when it exhibits the
Meissner effect?
28 00 Sotigd N6 Derardy VEOYDIDNE TAS'D WoLI 08 ETDS
2ODBV0E?
Options :

It 1s amplified
L& Q0 DPOoHICOBOH

It remains the same
5 % Qb R &o0tod

It is expelled completely
i b JISES)
- A0 QT 2a%ay Ootded B0l
It fluctuates
A0 ITEONSIDOL S DePB0D

4, %

Question Number : 100 Question Id : 23366711879 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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The Cooper pair 1s
SO0 2 IO IO IGEBL ?
Options :
Two positively charged 1ons bound together
-, 006 @S wh SDND aired SO Lodoserraw
Two electrons with opposite spins and momentum that form a bound state
SHIABE Dy HBATL A0 EBAD Totd VTV EF0L DB JByEOJFOD
2' Y 4 — o

A pair of magnetic dipoles aligned in the same direction
, &8 03 &0l Toth aDI) 08 BTV 2

3.

Two protons bonded together in a high-energy state
L6828 38 rond” $DD woBowwdd Bocd ey

4.

Chemistry
Section Id : 233667394
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 50
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 233667473
Question Shuffling Allowed : Yes
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Question Number : 101 Question Id : 23366711880 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

[socyanide test is useful for the identification of following functional group
800 D oIS S DAEFYY MPoSTrAS DIVIE DOE. GDATHDCELBE.
Options :

| Carbonyl / 563,06
), » Nitro / 2¢5°
, » Primary Amine / Sr@og 0920

. Carboxylic acid / S‘C’Dﬂaé;jﬁié €3:300

Question Number : 102 Question Id : 23366711881 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Hydrogen Bonding is found in
&2 oo HIS® £
Options :

i Phenols / 332:13953
., Ethers / SIAION
. » Arylhalides / €388 35gE&

L Aldehydes / @QQ_PQJ

Question Number : 103 Question Id : 23366711882 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks : 1 Wrong Marks : 0

Acetic anhydride does not react with
DOOE IEE BT B BEDA

FE
Options :

. » Ethanol /ag<red

, » Phenol / dcee5

; « Aniline / 283

, » Dimethyl Aniline / GFS 9IS

Question Number : 104 Question Id : 23366711883 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Erythrose and threose are
DBE D A8 SABFD DD

Options :

_, Diastereomers / 030030

L.

, » Enantiomers / Daﬂéoécﬁrmgp
. » Epimers / 06>

, Conformational isomers / o33 230¢5 32080

4.

Question Number : 105 Question Id : 23366711884 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Optically inactive amino acid is
SeoRaiVeGo™ SAirdw0 52 RV €20

Options :

. Asparitic acid / e9J7y85 o3&

, « Alanine / e9e°Qd
. « Tyrosine / 3828

Glycine/ G
v =

4.

Question Number : 106 Question Id : 23366711885 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

lodoform on heating with silver powder gives
Dol TEE DG BV ATFE T B3I Qb

Options :

L Chloro methane / §566 B

, « Ethylene/ 2HOD
; « Acetylene JARRLE

4 % Ethane /&3

Question Number : 107 Question Id : 23366711886 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Me Mg Br on treatment with which of the following produce an asymmetric center compound

Me Mg Br 808 o8¢5° 898 D83 Sabeo S0 WHATR Sog 150, ¥R0 D6yEHB08
Options :
., Propionaldehyde / 2T P&

, » Acetone / 092365°S

, » 2-Butanone / 2- w}gﬁrﬁ%

, % 3-Pentanone / 3- 20833

Question Number : 108 Question Id : 23366711887 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following will be able to produce n-propylamine on treatment with NaOH/Br2
$08 " D& NaOH/Br; D335 n-TD&5 000/ ¢4y G Sadriesy?

Options :

.« Propanamide / "Hr20&

, « 1-Aminobutane / 1- o035
, ~Butanamide/ enerorRob

, » N, N-dipropyl amine / N, N- G&&'0& 9200

Question Number : 109 Question Id : 23366711888 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Benzoic acid on Ardent Eistert reaction gives
SZans a3rdE Arndt-Eistert 938aeS” Ddedy 33 Ad 2008
Options :

. « Benzoin / S80S and
, « 1,2-Diphenyl ethane / 1,2- &0RQ& &3

, « Toluene / ¢S’end

, » Phenyl acetic acid / ¢ 22§ oirdE

Question Number : 110 Question Id : 23366711889 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

An organic compound with six carbons undergoes Cannizaro reaction. The structural formula is
e300 BP6R0 SDAD S63D DAY F0 €D a8 HADGILD S 0PHB0H. o782 AFGo

Options :

_2,2-dimethylpropanal / 2,2- AV lalSIVORIS)

1.

_ 3,3-dimethylbutanal / 3,3- Q&Jé__w%méé

2.

_ 2,3-dimethylbutanal / 2,3- Q&Qw%&ées

3.

) 2,2-dimethylbutanal / 2,2- Q&J@_waﬁ@éé

4.

Question Number : 111 Question Id : 23366711890 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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The reagent used to convert propiophenone to propylbenzene is
TOAFDID TRSBoBIMT HPENEIS SN0 S0

Options :

.« C2HsMgX
». = LiAlH4

, »Zn-Hg/HCI
;. «» NH2-NH>

Question Number : 112 Question Id : 23366711891 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In addition, reaction of aldehydes, the carbonyl carbon atom changes from
59 E 0 HABCIL ESJOTT, TS SPENS e B Aod ATrddBEE

Options :
= Sp3 to sp?

». v Sp* to sp?
5 » Sp to sp?

, « Sp3 to sp

Question Number : 113 Question Id : 23366711892 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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IR absorption bands lie in the following range
IR $¢3 eroc & Sod 086e5° &otraw:

Options :

1. »1600-1650 cm!
». v4000-600 cm-!

3. 1600-3500 cm!
4.%3000-6000 cm!

Question Number : 114 Question Id : 23366711893 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Hydrogen bonding shifts the IR absorption frequencies to
&2 wotso IR T F DT (L DG At S0

Options :

| o Low values / &8 & Deodw
, « Highervalues / ©&s denden
; « No influence / 0ardo G0

"N Greater Effect / 3626 &)E‘pg

Question Number : 115 Question Id : 23366711894 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Number of NMR signals expected for Methyal acetate are
DBADS V35 E00 530D NMR rf) &5y Doy
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Options :

L2
2. % 3
;.80

s8]

Question Number : 116 Question Id : 23366711895 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

- ' transition is not found in which of the following
Sod Toe5° B’ m- m+ DO EIDoSED

Options :

e Alkenes / &95) 3

- Alcohols /ese) 3555

g Azo compounds / 93’ “ﬂi})&#:}“w

. Carbonyl compounds / 528, ) ¥oren

Question Number : 117 Question Id : 23366711896 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The essential constituent of Chlorophyll is
DS g, B ercio

Options :

1. % Fe
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) » Mg
3 % C'D

4.$$Mr1

Question Number : 118 Question Id : 23366711897 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which is the increasing bond length order for the following molecules?

S08 9£0NVL) L300 T DENDEY E00 AO?

Options :
| % N." < No= N7 < sz-

5« N2 < N7 = Ny < N»
3 % N2 < N:* = N2t < Na

4 % N2 < Ny = N2¥ <N;

Question Number : 119 Question Id : 23366711898 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The maximum magnetic moment is shown by the ion with electronic configuration
(103) 903,08 0690 D DVFTAS TAYATAD G WOITS TF(0° SrDecIS00d

Options :

1. % 3d8

2. % 3d7
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3. % 3d6
4 v 3d®

Question Number : 120 Question Id : 23366711899 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In XeF2the hybridization of Xe is
XeF2 &5 Xe cing), 00865663

Options :
sp3
1. % SP

, »Sp3d
. sp3d2

s wSp3d3

Question Number : 121 Question Id : 23366711900 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The molecule having 3-centre-2-electron bond is
3-§ogo—2-;)@g°5 2060 £0AD eog)

Options :

., Diborane / Ze5*88

, » Borazole /eS'or&’eS
_, Boron trichloride / &S0 BEBE
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., Boron trifluoride / ST 8U°6E

Question Number : 122 Question Id : 23366711901 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The primary and secondary valencies of Ag in [Ag(NH3s)2]Cl
[Ag(NH3)2]Cl &° Ag a30€) FB0E 08050 A0 DDyew

Options :

. «0,3
e 2,1
;3 x1,3
wvl, 2

Question Number : 123 Question Id : 23366711902 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The hybridization in Ni forming Ni(CO)4 is
Ni &° Ni(C0)4 &0 D6y6e5¢ioeS” 0o886es 9063

Options :
sp3
1.vSP

, » dsp?

, « dsp?
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4. % d?sp?

Question Number : 124 Question Id : 23366711903 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The oxidation state of Fe in Haemoglobin is
ArHOIS” Fe ding) eS80 1S

Options : ®

v +2

2. #+3
3'$$+‘4

4% 0

Question Number : 125 Question Id : 23366711904 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The structure of Sulphate ion is (SO42) ion is
DG a3 Joepeso ((S042) 03T

Options :

| = Linear / D6
, «» Tetrahedral / &¢rage

- Square planar / h}%& F°06

, » Trigonal bipyramidal / A0 BHOES
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Question Number : 126 Question Id : 23366711905 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Effective Atomic Number (EAN) of Fe in K4[Fe(CN)s] is
K4[Fe(CN)s] & Fe (Bng) 0arddosgnd 06t oy (EAN)

Options :

1% 33
2. 34‘
3. % 3D

4. v 36

Question Number : 127 Question Id : 23366711906 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In EDTA titrations the indicator employed is
EDTA 8€52:9¢5° &0@BrAodd ordE
Options :

., Erichrome block-T / DOE D eS-T
, « Metal ion indicator / 2088 airS Qrds
. » Methylorange / &@eﬁﬁaoé

, « Phenol Red / H3°¢5 Q805

Question Number : 128 Question Id : 23366711907 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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B2He with excess NHz at higher temperature gives
68 &I (e ¢ NH3 e0dgorr &) BaHs @iwod

Options :

.« (BN)x

».« BaN3He

; « BsHsNH3
4.« BaHe 2NH3

Question Number : 129 Question Id : 23366711908 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following is a f block element
208 &S B fers Suredo?

Options :

1. % Rh
2. Eu
3, % CLI

4« Hg

Question Number : 130 Question Id : 23366711909 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The isomerism shown by the pair of compounds [Pt(NH3)4Cl2]Brz and [Pt(NH3)4Br2]Clz is
[Pt(NH3)4Cl2]Br2 &08a30 [Pt(NHz)4Br2]Clz @03 dd0) ¥ore) @ o0 drdecd o 0820
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Options :

.« Linkage isomerism / ®03& o0*20620
, ., lonisation isomers / e20Hg6e0 DV

g Coordination isomerism / 25083 V"0

W Geometrical isomers / 3arae3¢ a}ﬁﬁmg;

Question Number : 131 Question Id : 23366711910 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Of the following ions, which one has the highest magnetic moment?
308 IrPES”, DO WBIBS WADI 0t LE7) $DA ot0d?

Options :
1. ¢ Mn2+

» # Co2t
3 % Cu?+

4. = Cut

Question Number : 132 Question Id : 23366711911 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The monomer used in the manufacture of PVC is
PVC 5038e5° &@Brhod DT b

Options :
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.« Ethylene / @685
., AcryloNitrile / ©98¢5°8¢

, . Vinylchloride / D¢ £3&

. » Acrylicacid / a3rd®s0&

Question Number : 133 Question Id : 23366711912 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The gas released when chloride salt treated with solid K2Cr207 and Conc.H2504
£8& 00Dy 205 KaCr207 ddain Conc. H2S04 & DSty S22y DEDCSADY T30

Options :

1. = CrOCl2
».» Cr02Cl2
3. % CrOCl4
4. » CrOsCls

Question Number : 134 Question Id : 23366711913 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The number of unpaired electrons in the complex ion [CoFs]3-are
083y @03 [CoFe]? &° a3sed Jogrg Do

Options :

L% 3
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2% 0
3. v 4
4% 2

Question Number : 135 Question Id : 23366711914 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Joule Thomson coefficient is zero at
.................. S¢S 'S TN (DEIS0 RIT) T 080006,
Options :
Critical Temperature
g0 effos

Inversion Temperature
80 edoe

Absolute Temperature
BRGNS e agﬁg@

Below Q°c
.. 0oc S08&3 93336&’)

Question Number : 136 Question Id : 23366711915 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Law which related the solubility of a gas with pressure is known as
TPa$0) CVE), TPOES0NBIV DEMOE BVOTPIND DADATI) FL® DRVFE
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Options :

. Raoult's law / 6°¢ dasawo

, »Henry’s law / 2»Q Dabavo

; » Boyle's law / eraed dadavo

, » Newton’s law / o0 dadbawo

Question Number : 137 Question Id : 23366711916 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The PH of 108 M HCI solution is
108 M HCl gradeao aBng). PH Deodd

Options :

%7/
2 v <7
3. >7

4% 0

Question Number : 138 Question Id : 23366711917 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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The standard electrode potential of Zn/Zn+2 and Cu/Cu2+ are -0.763 V and 0.337V
respectively. The standard EMF of the cell is
In/Zn+2 &8ain Cu/Cu+ © Frareds ngé @@Qcmé o -0.763 V sodain 0.337V

o0 @E), Fdoreds EMF
Options :

L= 0.426V
250V

;. #-1.10V
+»1.10V

Question Number : 139 Question Id : 23366711918 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The osmotic pressure of the equi-molar solutions of CsH1206, NaCl and BaCl2 will be in the
order

CsH1206, NaCl 2080 BaClz © 6:3(20rerd grame) Garddoe ko & $inoes” eotnod
Options :

1. = CeH1206 > NaCl > BaCl
, « NaCl > BaCl2> CsH1206
;.v BaClz > NaCl > CéH1206
4. » GeéH1206 > BaCl2 > NaCl

Question Number : 140 Question Id : 23366711919 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks : 1 Wrong Marks : 0

A colloidal system in which liquid dispersed in solid is
BD0 EVBDTG0eS” BECEFQIED 30GEd SO

al LA e Al
Options :

. Emulsion / 090

, w S0l TS
3 Gel / 595
, » Foam / Q0800

Question Number : 141 Question Id : 23366711920 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The units of first order rate constant are
208 e_egé o] AY) aJU"OSG B8, O30

Options :
| & Mint?

, » Mollit?!sec?
3 % Secl

4« Mint? & Sec?

Question Number : 142 Question Id : 23366711921 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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In a reaction ti/2 was inversely proportional to initial concentration of reactant. The order

of reaction is
2jek @aadgesﬁ t1/2 S6§S°ES0 VS, 0L TPESL DS AT 3065 &ot10d. <S0°) S0

Options :
- Zero [ 0

, « First / 2006¢
; v Second / Godisd
4 = Third / &ooe¢éad

Question Number : 143 Question Id : 23366711922 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Calculate the crystal field stabilization energy (CFSE) for the complex, [Rh(CN)6]°, where Ao>P.
Ao>P &4 [Rh(CN)6T e 20833 280, 9ardS $26 6 OGBS D38 (CFSE)D 03) 085082

Options :

| % 0.4A.+P
, % 246+ 3P
v 240, +3P

4 % -0.4A, +P

Question Number : 144 Question Id : 23366711923 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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The material used in solar cells contains
DG eSS &HAITAS ?’.Jc:?goe‘)'s QD E0otraw
Options :
1 % Cs

) Si
3.% 9N

4&%T1

Question Number : 145 Question Id : 23366711924 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The relative lowering of vapour pressure of a solution of non-volatile substance is equal to
6 S Drgo ), TrdE0 L), BDB DEDo ), FDE B0z B wAFDo
Options :
Mole fraction of solvent
, Trodgo s, 25 D3y o
Mole fraction of solute
L IS0 GV, 7€ D3y o

Weight percent of solute
; # P20 ) Fe90
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Weight percent of solvent
, » TOS0 A0S DY T

g01.digialm.com/CAE/viewHtmIPDFAction.action

Question Number : 146 Question Id : 23366711925 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

When a gas reaction involves a decrease in the total number of moles, the equilibrium can
be shifted in the direction of higher yield by

208 TPOdD @e‘ﬁézﬁdéeﬁﬁ 20 AT Rog)] SADEDNE, RV WOS Bred H%e5° der
BTGNS
Options :

Decreasing the pressure
| x WOGER Shotdco.

Increasing the pressure
- 203G dothtio

Increasing the temperature
2 % &%ﬁf_je‘_’aaﬁ.} Dotdcto

decreasing the temperature
| Gl (18 Shodio

Question Number : 147 Question Id : 23366711926 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

0.5 moles of Na2C03 is present in 500 mL of its solution. Normality is
500 mL grsdes0eS” 0.5 20765y Naz2C03 &sotod. oo ot

Options :
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.« 0.8
2% 1.6
;. % 0.32
42

Question Number : 148 Question Id : 23366711927 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Concentration unit independent of temperature would be
€T3 ool D oo €0l DS A

Options :

| » Molarity / 20er68)

, » Molality / 200er8¢
; « Normality / gdeach

, «» Molarity & Normality / 2A0eTO8 & Jrdeas

Question Number : 149 Question Id : 23366711928 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The reaction of bromine with 2-pentene is
2-0080 57D DAV

Options :
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Electrophilic substitution
QOEDDE Hrejio) oo

>

L.

Nucleophilic substitution
- mégcﬁrfbéé TRYBI™) 0o

Nucleophilic addition
. QrgSa3rndS ewiSdorr

Electrophilic addition
ASEDOE e3dorT

4.9

Question Number : 150 Question Id : 23366711929 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following molecule has zero dipole moment
300 TS D ENPLL WT?) BLEID LD Es0L08?

Options :

.= CO

2. v C0O2
;. » NH3
4. » H20
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